EARAROBEEIERT — 2 N— IBISH —F

20165 7H230 (£) 6EIEERI1H

m C2+m# 45%—Mm (xwlw | mEmml - |5 ) w8
[A&4£] 1 7% :100,000  ~ 23#&:20,000”  33%&:10,000 M  43#&:7,000H ~ 53 :3,000H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
=\ A o4 | HEE— 1:16.3 2-2 39.0| — 2 444 | /NEEAE (ERFE)
172l 71N F759 7 5.0 = o) | HHFE
¥+ T7roR70—7 B:IHTI7597 Ela ke ]
N - = GRS :16. = . — Wi BY (R
2|5|5|Ea—T1TNT S ED s R VG [ mhmse
L:2=/xLlLy b B:7O0XTAN=h B HFEEMKXSHIVAT RS
= o= e LA : - — iR (R
N - BEREL A, it 4 % 1.(1:3).9 3-3 39.2 5 <4+527) i
LHTIFUFY BHITFLY AEZEY b
i 4 o4 | BEREE 1:17.3 7-6 38.1| — 4 406 | BEILES] (B%FRE)
1 c IEEES R 56.0 21/2) -1) EEix
L:A—LiFLf4a B:2A—Ly b F— TS
. & o4 | AHE 1:18.0 5-4 391 — 6 498 | HEREHREEZ (EERE)
5011 FA=FNTh= 5.0 @ s | AfEERIE
LA d70— BIL NAT7IT5T— HRESHH 74L700—
o $5A%h :18. = . — THERZ (BRE
A 2 P Ny =Tz Y= i A51.0 1(128)3 &7 8.1 3 (4+181) () AI>—
LEXETAHFAILLR BT RIAYFv—L4 bl e
3 _ 4 4 | BEIXIE 1:19.5 4-5 a1 - 7 434 | FEFE (KR
1 : NESPEES 5.0 @ (o) | RERE ()
LY LTAN=b BT RNy E— w18
@ 1 — S —EBIEf
13—7+—
230—7F—
Jol=5r= 5,7,3,4,1,2,6
43—F— 5,7,3,1,4,6,2
[ N3
BB 7 520M 714K 5-7 150H B = 5-7 230 3EHE 3-5-7 1,260M
8 B 7 1209 &= 850M B H =5 820M K31 1=l 7,530
5 100M 3-5 270M

ABICOVWTRDTEEERROODE. TR LIV,




